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a = input(" R SIS (y/n)?")
if a == "n":

print("tHZEn!")
else:

print("ERFEI!")

a = input(" FRISIB(y/n)?")
if a == "y":

print("{ERFEI!")
else:

print("diEG!")
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X = input(“"x: ")
y = input("y: ")
x = float(x)

y = float(y)

it x > vy:

print("x Eb y X")

elif x < y:

print("y Eb x K")

else:

print("FEHEEF")
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w = input("BBRERERB(y/n)?")
g 1nput( lﬁﬁﬁtbﬁﬂg(y/n)’ )
if w == "y"
1'F g llyll.
pr1nt( '‘AETiERlR! ")

print ("EEMITE! ")

else:

else:

print("7=EK! ")
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w = input("BBRERERIB (y/n)?")

g = input(’ lﬁaﬁthﬁﬂg(y/n)’ )
if w == "y":

if g == "y":
print("4iEK! ")

else:
print ("HEEHTE! ")
else:

print("7:S#2ER! ")
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w = input ("BBRERBFEE (y/n)?")
g = input(’ :ﬁ&ﬁtbﬁlﬂ(y/n)’ )

1_F g - ||y||,

print("4=GEREK! ")

else:
print ("EENiTE! ")
else:

print("7=EK! ")
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w = input("BBRERRB(y/n)?")
g = input("ZEBEEB(y/n)?")
i_F W == llnll .

print ("7 EK! ")

if g == "y":
print("4=K! ")

else:
print("EHEiTE! ")




w = input ("B RERRIEB(y/n)?")
g nput( @Eﬁthﬁﬂﬁ(y/n)’ )
1

i w == VAN
prlnt( HRek! ") =5 ()

else:

if g =

pr1nt( 4;\ C
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else:

print(
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input ("BBR=ERFRIB (y/n)?")
1nput( lﬁaﬁtbﬁﬂg(y/n)’ )
if w == "n"

prlnt( 7 cGEERR! )
elif "y
prlnt( 4h“ﬁ§HE! "

")

input(“x: ")
input(“y: ")
float(x)
float(y)

pr1nt( x tby X")
elif X < y:

print("y EE x K")

else:

print("FAEHEF")
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>>> False and False n“ and b

False .
>>> False and True False False -dlse
False -

>>> True and False False True dlSe
FALSE True False False
>>> True and True

True True True True
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>>> age = 4

>>> h = 1.1

>>> (age > 5) and (h
False

>>> age = 6

>>> h = 1.1

>>> (age > 5) and (h
False

>>> age = 4

>>> h = 1.5

>>> (age > 5) and (h
False

>>> age = 6

>>> h = 1.5

>>> (age > 5) and (h
True

> 1.2)

> 1.2)

> 1.2)

> 1.2)
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age = int(input("FIAEEES: "))

h = float(input("SBABS: "))

it (age > 5) and (h > 1.2) :
print("BII&EZE! )

else:

print("(aZE! ")
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False

>>> False or True False False False
True

>>> True or False False True True
True True False True
>>> True or True

True True True True
=L (=15

or WNEREAMILANE I — Mo/RIERETrue, FERH
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>>> (age > 5)
False

>>> age = 4
>>> h = 1.5
>>> (age > 5)
True

>>> age = 6
>>> h = 1.1
>>> (age > 5)
True

>>> age = 6
>>> h = 1.5
>>> (age > 5)
True

or (h > 1.2)

or (h > 1.2)

or (h > 1.2)

or (h > 1.2)
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age = int(input("EIANER: "))

h = float(input("EABS: "))

if (age > 5) or (h > 1.2) :
print("IBfIEZE! ")

print("f%E! ")

else:
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input ("BBRERRIB(y/n)?") W
g 1nput( "Ei=BttEB(y/n)?") g

1f W == y, leW::yandg
if g == "y": print("4 #_E'E'

pr‘int(u else:

print("73EeK!

else:

print("7=EK! ")

")

input ("BBRERFRIB (y/n)?")

input (' ;ﬁaﬁthﬁﬂg(y/")’ )
iy

")

pr.int(n4"£“ﬁ ] v eli_F W == Ilyll and g 1= "

yll:
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>>> not False

True
>>> not True
False
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>>> raining = True
>>> not raining
False

>>> raining = False
>>> not raining
True
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J&hR: not 5 > 2 or 3 * 4 >

(not (5 > 2)) or ((3 * 4) > 10)
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5>6or 7 > 6 and not 4 > 5
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>>> score = 70 -
>>> (score > 50) and (score < 60)

False —
>>> 60 > score > 50

False -
>>> (score > 60) and (score <= 70)
True .
>>> 60 < score <= 70
True

>>> grade = "A"

>>> (score > 80) and (grade == "B")

False

>>> (score <= 80) and (grade == "B")
False

>>> (score > 80) and (grade != "B")

False

>>> (score <= 80) and (grade != "B")
True
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>>> score 70

>>> grade = "A"

>>> (score > 80) or (grade == "B")

False

>>> (score <= 80) or (grade == "B")
True

>>> (score > 80) or (grade != "B")

True

>>> (score <= 80) or (grade != "B")
True

>>> x = 123

>>> (X % 2 == 1) or (x < 100)

True

>>> (X % 2 == 0) or (x < 100)

False
x BRLA 2 B95RZE]
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>>> score = /0

>>> score > 50

True

>>> not (score > 50)
False

>>> score < 60

False

>>> not (score < 60)
True

>>> grade = "C"

>>> grade == "B"

False

>>> not (grade == "B")
True

>>> not (grade != "B")
False
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https://www.w3school.com.cn/python/python_conditions.

asp

- BEIZER
https://www.w3school.com.cn/python/python_operators.a
sp

. BEHIERE
https://www.runoob.com/python/func-number-
random.html
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